oS 1387 22 AABCOIA /A 9] o5& A
A3t | BC ¢F0] WS D e &, AB 9
Zol=? (&, AC = 10cm, BC = 14cm,
DC=6cm)

24 40 56
@ - om @) - om ©) 5 om



O 2ol AD /ECY W, x+y ©] &

©9

@ 14 @ 13 ® 12
@ 11 ® 10




O 7



4. thg 29 sABC 94 AD 7} 2A ] 12}9] o] 52 41Y o, BC ¢
Zo]Z 13511, AABC &F AACD 9] Y o]9] H|E E5}lola},




th2 134 AD//PQ//BC & ®, x +y ] gte?

~
~~o1-

R~

@7 @ 75 @ 8 @ 85 ® 9



6.

th& 2394 AD //EF // BC € ), EF ¢] Zo]E?

O 12

@ 14

/A --10-~_D

7 \
’6/ E P i
g0 C



7. S IHJAHBP:PC=3:2,AQ:QC =3:40°|t}). AR = 5cm
o of, RP <] ol Fotofat

A




APAE ABCD ol AB ¢} DF ] @413

Q

Y

flo



S
ol
< U
oo
T o
ol -
er2 .
N
o N7
B A s
N & -
S 0
N
ERCIC
R 5
JuLum
op B oy
ool o

@ 4:9:25

D 1:4:9

@ 16:9:25

® 4:9:15

® 4:16:25



10. t& 134 DE//BC ©]i aAADE =
48 cm? ¥ Wj, DDBCE 9] Wo|& ofof2t.







12.

otmtE 9] zolE Aj7| Yot ofmt
EO 1A E AoA 3m GojAl
214 Bell 2017t 1.5m <l I E
Al 1 Z187te] Eof ofntE 9]
Tdzke] 23 dA|5HA sElTE

hjo} obutE Afolo] Aglrtsm  ~3me BTy -
o uf, ofntE 0] oS Palolet (W, Tele ekttt

D
=%



